ﬁ i"ﬂ' 8_%_3 Negativa exponenter pa 10

naman: Datum: Poing:
7x 107D = 829,5 x 1001 =
524,9 x 100 = 9% 10° =

—2x 100% = 1009 =

5x 100 = 1x10=

6x 10 = 1002 =

1079 = 100D =
739,9+ 1072 = 1002 =

1077 = 1004 =

410" = 408, 4+ 1079 =
-2 % 10* = 7% 10% =
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Negativa exponenter pa 10

namn:

7x 1070 = 0.7

524,9 x 107 = 0.05249
—2x 107 = —0.0002
5% 107 =0.005

6 x 10% = 600

107 = 0.0001

739,9+ 107 = 73990
107 = 0.001

4x10° =4

—2 x 10% = —200

Datum:

829,5 x 10 = 82.95
9x10°=9

107 = 0.0001
~1x10=-10

1072 = 0.01

1079 = 0.1

1072 = 0.01

107 = 0.0001

408, 4+ 100 = 4084000

7 x 107 = 700
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